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!i' % %ﬁ %’ M Multiplicera decimaler med negativa krafter pa tio

namn: Datum: Poiing:
5994 x 0.01 = 7863,9 x 0.0001 =
7868,5 % 0.1 = 9600, 7 x 0.001 =
9106, 9 x 0.0001 = 6560,5 x 0.1 =
7559,8 x0.01 = 5071,7 x0.001 =
2660, 1 x 0.01 = 6829, 8 x 0.001 =
6505,9 % 0.001 = 6624, 6 x 0.0001 =
7055,5 % 0.01 = 5205,1x0.01 =
8575,2x0.1 = 2602,9 x0.1 =
9799,8 x 0.1 = 7640,4 x 0.1 =
4242,1x0.01 = 2649, 1 x 0.0001 =

www.snowmath.com


https://www.snowmath.com

(ﬁo % %g Multiplicera decimaler med negativa krafter pa tio

namn: Datum: Poiing:
5994 x 0.01 = 59.94 7863,9 % 0.0001 = 0.78639
7868,5 % 0.1 = 786.85 9600, 7 x 0.001 = 9.6007
9106, 9 x 0.0001 = 0.91069 6560, 5 x 0.1 = 656.05
7559, 8 x 0.01 = 75.598 5071,7 =% 0.001 =5.0717
2660, 1 < 0.01 = 26.601 6829, 8 < 0.001 = 6.8298
6505, 9 x 0.001 = 6.5059 6624, 6 x 0.0001 = 0.66246
7055,5 % 0.01 = 70.555 5205, 1 x 0.01 = 52.051
8575,2 x 0.1 =857.52 2602,9 % 0.1 = 260.29
9799, 8 x 0.1 =979.98 7640,4 x 0.1 = 764.04
4242,1 x0.01 =42.421 2649, 1 x 0.0001 = 0.26491
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